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1) The equation 2x* +10x+5=0 has
A) One repeated real solution
B) Two different real solutions

C) Two conjugate complex solutions
D) No solution exists

2) The expression 10i + (—1+ N- 25)2 in standard form is
A) -24

B) 16i +1

C) 24i

D) 16i—-1

3) Consider the function graphed below. Which of the following is true about the function?

A) The function increases on (0, )

B) The function decreases on (0,x)

C) The function increases on (1,)
g e e i O O O O D) The function decreases on (1,0)
4) Determine whether the function f(x) =2x® —4x is even, odd, neither or both (even and odd).

A) Even
B) Odd
C) Neither
D) Both

5) Given f(x)=x*+3x and g(x) = XZLll , what is the value of f(2)-g(-2)?
X° +
n 2
25

7
B) —
)25

51
C) ==
)5

o) 51
25

You must write the correct answer to each question in the box below

Question 1 2 3 4 5

Answer




6) Identify the y and x intercepts of the following graph:
* A) (3,0),(-3,0),(0-4),(0,4)
B) (0,3),(0,-3),(-4,0),(4,0)

C) (3,0),(0,4)

D) (_3’0)1 (01_4)
7) The line y = 2x+11 passes through the point with coordinates(a, 7). The value of a must be:

A) 25
B) -2
C) 9.5
D) 9

8) The slope of a line perpendicular to the line with equation y = 3—% is
A) 4
-1
B) "
C)3
-1
D) 3
9) Solve —2|3x + 1| —8 > —18

A) [-3.2]
o) [-2.]

C) (—o0,~2) U3, 0)
D) None of the above

3
10) Solve xz2 —7 =1

A) {4}
B) {—4,4}
C) {2}
D) {-2,2}
You must write the correct answer to each question in the box below
Question 6 7 8 9 10

Answer




3
4+ 2i

11) [4 pts] Simplify and write the answer in standard form.

12) [5+5 pts] Solve each of the following equations using the method stated (show all your steps):

a) x*+2x-15=0 (using the Quadratic Formula).

b) x*—4x+6=0 (by Completing the Square).

13) [5+5 pts] Let f(x) = x* +2x. Answer the following:

(i) Evaluate the difference quotient Fx+ hr)] -

(i) Find the average rate of change for f(x) = x*+2x from x, =1to x, =3



14) [6+6+6 pts] Solve the following equations (show all your steps):

a) x*—x2-6=0

b) vx+6=x-6

c) x3—2x2=6-3x



15) [4 pts] Find the slope of the line whose x-intercept is 5 and y-intercept is -3.

16) [6 pts] Find the equation of the line (in Slope-Intercept form) that passes through (-3,2) and is
parallel to the line 2x—y+7=0

17) [8 pts] Given the graph of the function f below, answer the questions that follow:

(i) Find the domain of f? 5
(if) Find the range of f ?
(iii) What is the value of f 1)+ f(3)?

(iv) What is x when f(x) =-1?

(v) What is the y intercept? -3
-4
(vi) Where is the graph of the function f -5

decreasing?

(vii) Where is the graph of the function f increasing?



